000 (0)

googd



gboogbood

000000000O00o0000U0ooo00ooDoDoooooooO (o
000)0000000o00ooooooOoo 6000000000000
gooboso0oboobOoOoooboon

0000000000 70O (19320)20 280000000000000O

oboooooooo:

e JIDOODOODOODOODODDODOO
e J00ODOOOOODOOOODOO
e JOIODOOODOOO

e JJ0DOODOODODOOOODOD TRXOOODODOODOO



o8t Uod

1 ODOOgd

8.1 0LUO4ogn

gboobooooooooooooboooooobobobo,ooo0o0o0oo
obooooboo. obobooboooooooobooooooboooooon, oo
ooooobo.oobboooobooobboooobooooboo,oobobooobo
gbobooboooooobooob,0obooboobooooboooo. oo
gbobobooooooooooooooboooboobooboobon, oo

obooooooa.
ooooo

apx® + a1z +as =0

oooood0,z=y+A0000,000000000000000. 0O

goooobooood
f(z) =apzr™ + a1z '+ +ap_1x+a, =0
oooooog, fx)=000000000.

<P(y) = boy" + blynil + bzyn72 +.-=0, 1

Od by =ag, by =nagA+aq, by = wao)ﬁ + (n— 1)a1)\+a2, e

A = —ay/nag

oooOo,y-l0000000.
000000000000000000

(p(y) = b0y2 + by =0. bg = ag, by = (4(10@2 - a%)/4a0.

g

oag
—a1 a% — 4agas

2(10
ooooooooooodgon.
l000D0: 00000000000 b 0000 b 000.

go
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82 0O0OOOO?

goooo

f(2) = apx® + a12® + agx + a3 = 0
oboooobooooooboooogon.
¢(y) = boy® + bay + bg = 0.

oo

bo = ao,
by = (—ai + 3apaz)/3ao,
by = (2a} — Yagaias + 27akas)/27a3.
0 e(y)=00000000
v +ay+b=0
gobod0,y=uw+0o040000

u® +v® + (3uv + a)(u+v) +b=0.

00

3uv = —a
opooa

ud+ 03 =—b
00

4
3_.3\2 _ 2 3 _
(u® —v?) b—|——27a D

000, -27D0 ¢ +ay+b=00000000. (§7.29). 00 u® —o® =
+/DO wW+vd=-b000

u={/5(-0+VD), v = {/5(-b-VD)

ugbobod. o0 3w=—-eU00000000000,«0000000, v
obooooo,oon

00: 0000000000000 Archimedes 000000000000, 000000
0000000000000 0D00 Omar Alkayyami 0000, 0000000000000
J00000D00OD0O00000,0000000000000 Scipione del Ferro DO OO0OO
0. Cardano 0 Tartaglia 0000000000000 0O00O00OO Cantor O Geschichte
der Math. II, p. 490494 000 0O0O0O0OO.



1. 00000 )

000.000 e=(-14+3i)/20000,00000000000000

{
4
1

gboo.obooooobooooooon.

000000oO0o0oooooooo,o00 —2rpooooo (§7.30). O
gojddoogooooobbbobbbbbboddou. oooboobbobo
gboboooooooooooooooobo,0bobobobooooon
oboooo,0000000o0o0o0obo0oobooo,0boooboooboooon
0.000000000 (Casus in irreducibilis) 00 00000. 00000
goocoobooboooon.

(—b+ \/T))}_é —

DN =

1
2
<_b+@>}‘§ e

DN =

DN | =

(—b+\/5)}é - 2 {;(—H@)}

00 2% —152—4=0, (Bombeli 00O DOO).

T = €/2+\/121i+€/2—\/121i
= V24 11i+vV2—-1li=(2+4)+(2—i) =4

googooob.oood

e@+i)+e22—i)=—-2-V3, 22 +i)+e(2—i)=-2+V3.

8.3 ULuUggnl

0000000000000 OoooooooooooO (Ferrari) OOO.
0000000000000 00,000000 Ars Magna (1538) 00O
oooooo.

ooooo

f(z) = apz* + a12® + agz® + agz + ay =0 (1)
O00,z=y—a1/4ap 0000
y'+ay? +by+c=0 (2)
goodo.oobbbo,joodubbbbuooooooo

y=u+v+w (3)



6 080 OOO
oooo,00000d
u? 4+ 0% +w? = A, v2w? + v +u*0® = B, wow =C

ggoad
4y? = A + 2(vw + wu + uv),
16y* = A% + 4A(vw + wu + uv) + 4B + 8C(u + v + w)

000.000 (2)000000
(A2 +4aA+4B+16¢) +8(C +b)(u+v+w) + (4A + 8a) (vw + wu +uv) = 0.
300 A=-2¢,C=-b000000 A, COO0D0ODO
A +4aA+4B +16c =0
000,00 B=a?>—-4c000.00 w,v,wd 00000000
22— A2® + Bz — C% =2 + 202° 4 (a®* — 4c)z — b* =0

gboboobobooo. ooooooooobobobobooboooooon
gboooooodgb. obobobobobid w, v, w0, ooogo
0000 ww=-b0000000.0 ug, v, wo OOOODOOOOODO

1 1 1 1
5(U0+Uo+wo), 5(”0*00*100), 5(—u0+v0—w0), 5(—u0—v0+w0)

gbooooooo.

84 0LUUgQl

godddoooooooobboboboobobbbodoooooooo. b
00004000000000000000,00000000000000
ggbooboooobgoo.

googon

f(x) =apx™ +ar2" 4+ +a, =0

oooo
y:F(fL'):)\0+)\1£U+)\2x2+...+)\n71xn—1 (a)

gbooooo,bo

oY) =y + by by 2+ 4D, =0

30000: 00000000 (A2 +4aA+4B+16c) 0000 (A%2+4A+4B+16¢) O
0o.
40 0: Tschirnhaus, Acta Eruditorum, 1683.
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0000000, A, A1, A, ...0000000 p(y) DOOOODOODOOO
oooooo.

O f(z)=0000 21,29,...,2, 00, 00000 yOOO y1,¥2,--,Yn
oooad

oly) = W—y)y—y2) (Y —Yn)
= (y—F(z1))(y— F(x2)) - (y — F(2n))

000.00 f(z)=00 y=F(x) 00000000000. 00 y=y
0000 f(z)=00 y.=F(x) 0000000000000000 (0DOO
Y1,Y2,-- ., yn—1 00000000)00,00 o—2, 0000, 2,0 y, 00
0000000.00 2-2,0000000000000000000, %
Oy, f() 00000 Moy A1y---,A1) 00000000, 00 o(y) =0
DIZIDIZI,DDDDDDDDDDDD,f(x):ODDDDDDDDDDDD
0.¢(»=00000000 f(z)=0,y,=F(zx) 00000000000
0.000000--10000000000000.00 ¢(y)=0000
gooo,0d n—1000000000 f(ac):O[IEID[IEID[IEIDD
oQ.

() 0000, f(z) =00 ¢(y)=000000000000000000
ooooo.

O b =Yy, ba = Stnye, ...00000, (a) D000 by,bg,... O
(A0sA1,--,An—1) 0000000. 000 b O (AoyAL,--sAn1) O kO
000000000.0000 (21,20,...,%,) 000000000,000
f(xy0OODOODDOODOO.

00 b =0,bpb=0000000 (M\o,A1,...)00000000,X00
0000 (A;,Ae,...,A—1) 00000000 0000000000000
MiAo:--: X\ 000000000, b1=0,b,=0,b3=0000000
O X, M 00000 X:Ag:---000000000DO00O0DOOO0DOODO.

oooooooooooooo,nh=wL=00000000000000
0000.00000000 ¢3+b,=00000000000.00000
00000000000 00O0000O0.

ooooooodo,bh =0,s=000000000000000000O
0oO0.00

Yyt 4 by + by =0

00000,00000000000000.
000D0000000000,b =0,b,b=00000000 (A, A2, A3, A1)
0000000 00000000000000000. 00000000
0 (89:2) saapf + seap3 + >33 + sapd = 0 00000, iy, p2, pz, pa O
AL, A A 0000000, 00 AydgAs, A O Bam = s,
VFls = /=saps 000000000 A, A As, A 000,000 Az, M
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0000000000000000. 00 b3=000000 A/A OO
000000000, 00000000000, 00000000000
Y4ey+d=000000.00 y=cz0000

5
P Hz+A=0, (A=c/c4)

000.00¢°+b=00000000000000000000000
g.0uooooobogboboboboboboboboooba,gooooaon
0000000000000 O0O00ooOoag®

P2+ A=0

gboboobobooo. oooooooboobobobobooboooooon
gooo.
goooooobooooobooboobo,0coboooboobobooobooo
000,0000000000.0000000000000000000
obooo,00o0ob0obooobooboboocooooo.

b1 googboboooboooboooboooboooobooooooooo.

uboooooobobooooobob,bo0booooboobooog,
ggbooboboobuoobooobooobooboo. bboobaaoboo
go,0boboooooboboboooobobobo,boboobooon
gbooooobooooooooon.

500: Weber, Algebra I, p. 363 0 0.

500: Abel, Journ. f. Math.1, 1826, Oeuvres completes, 1881, I, p. 66. (Maser,
Abhandlungen iiber die algebraische Auflosung der Gleichungen von Abel und Galois,
1889 0 0). Wantzel 00000 000D Serret, Algebre II, p. 512 00 0. OO Abel
00000000000000D0000D000 Konigsberger 000000 (Math. Ann. 1,
1869). Kronecker 000000000000 (Berliner Monatsber. 1879). Bauer, Algebra,
p. 141-153, 00 000000C0DOO0O0ODOOOOOOOODO.
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2 O0OoOoood

85 UUUOODO

obooooooooooooooogo. boboboboboooboo
gboboooooooobooboooboobobobobooboobo.obooooo
0,(l)0000000,00000o00ooUoon,(2)oouoooooo
0000o0o,00000000,3)00000000o0oooooooo
goooooooo.

gbooobooboooobooo.

obooo 00000000

f(z) =apz" + a12"  + - +a,_ 1z +a, =0

o, gdobobbbooooobbbooooon.

§6.14 00O 00O, M = max(|ai1], |az],...,|a,]) OO0OO, f(x) =0000
0000 14+ M/le| DOOOODOOOUOOOO.O000O0OO,000000
gogodoooo.

O jzl=p0000

|[f(@)] > laolp™ = (lawlp" " + [az|p" ™2 + -+ + [an]) (1)

O00.00000 F(p)oooo
F a a Qn,
@:|a0|_(|1|+|§|+...+|n|>.
P P P
00000 pO0DODOODOOODOODO, pd00DbOO0OOOOODOO
00D |ap) DO0DODO. OO F(p)/p" 0 000000 pO000ODDOOO.

00 po 0000, p>po 000 F(p)>0000. 00 |f(z)] > F(p) >0
000.00 aq,09,...,0, 0 f(z)=0000000

lak| < po, (k=1,2,...,n) (A)

ooo.
000 (1) 000000000, (A)0000000000000000
0D0000.00 p0000000000000000,00000000
00 |o/ 0000000000D000OO0.
000000 (1) 000

F(p) = laolp™ — (lax|p™ " + laz|p" " + -+ + |an]|)

gboooo pobooooobooog.
ooooog

laglp™ > Melaglp™ ", (k=1,2,...,n)



10 og8o 0O4o

1 1 1
— =4t — =1, A, A, A >0 2
)\1+/\2—|— +)\n 1, A2 (2)

00 A, Ag,...,A, 00 p00000,000 F(p)>000000.
(2) 000000 ALhe,...,\, 000000O0

ag

,0>k)\k ,(k:1,2,...,n)

ao

00 p00000 |f(z)>F(p) 000. 00

o] < max [ Ax Z—z , (k=1,2,...,n). (B)

0 (20000
1 1 1
—t— e+ — <1
ALy A2, A, >0, N + \ + -t N < (3)
ooon
o] < max A |E], (k=1,2,...,n). (B1)
aop
OO0 Mi=X=---=\,=n0000

|ai|§maxw’“/n Z—’;, (k=1,2,...,n)" (C)

0000, \=20000 (B1)OO

|| < 2max { Ok

ao

000,0 x=((2-1)*0000,(B)00

1
loa;] < —=—— max
1

2 —

000008 00
Mo = (laa] + lag| + - - + |an|)/|ax|

oooo,B)oDoOoO

1
|a1|+|a2|+~--+an>k

|| < max (
|

7(A), (C) O Cauchy 000 . Exercises de Math. 1829, Oeuvres (2) 9, p. 122.
8Jensen, Nyt Tidskrift 21, 1915; Birkhoff, Bull. American Math. Soc. 21, 1915.



2. 0O0O0OOoo 11

ooo. oo

lao] = faa] +faz[+ -+ +an| DD O

|ovi| < <|a1|+|a2|+"'+|an|)

Si=

)

|ao] (F1)
lao| < lax| +az|+ - +]a, [0 O0
o] < lar] + |az| + - - + |an]
|ao
gpoo.0o0oogoo
lao| > |ax| + lag] +---+a,] 00O oyl <1, (F2)
lag| > [a1] + |az| + - +]an| DOO oyl <1
(FQ)DDDDDD§6.32DDDDDDDDDDDD.
DDDDDDDD(1)DDDDDD,F(p)>OD
lao?p*" > (Jar|p" " + |azlp" > + -+ + |an|)? (4)

good,0bobobooooooooo (§7.13DD 1)DDDDDD
laol?p®™ > (lar” + |az® + -+ + |an ) (0" 2+ 0™ 4+ p* + 1) (5)

00000 (4) 00000. 0000000000000000 (p* —
1)/(p2—1)0000,p>1000 p*/(p»®—1)00000.00,p>10

od
p2n

p?—1
000 (5,00 (4,000 |f(z)|>000000.
ooooooo

|aolp®" > (lar]? + laz|* + - + lan ),

1] + |ag|* + - + |an|?
laol?

pP>1+

00o0oOoo,0000000°9.

1
(laol® +Jaz|* + - - +]an[?)2

|ao

|ai|< ) (221,2,,71) (G)
doodooOooOoobOooboooOooo,0baon
2" f (L) = ana™ +an_12" ' 4+ F a1z +ao =0

000 f(x)=00000000000000000O0O0O0OO.

900: 00 Carmichael-Mason (Bull. American Math. Soc. 21, 1915) 0000000
O.
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8.6 OOOOOk

gbooooooooooooooo,oboobooobooo,obooon
oboooobooooooa.

00 2. 00000 f(z) =az"+az" '+ +ay12+a,=0000
oo
ag >ay >ag > -0 >a, >0

gooodobD,0d « oo 100000, 00O
ap>ay1 >az > - >an >0
oo, 0 « O0DOOO0O100000O0.

O<ap<ar<a<---<a, 000 |o/>1 OO0,
0<ap<a;<ay<---<a, OO0 |of>1 OOO.

000000000000000000,000000000000001M4
ooooooooo.
Oay>a>a>--->a,>00000

(r—1)f(x) = age™" — (ag —a1)a" — (a1 — ag)a™ =+ = (a1 — az)r —a,
000. |z|=p0000
|@=1)f(2)] > agp™ —{(a0—a1)p" +(a1 —az)p" 4+ -+ (an_1—ay)p+a}

=(p=1f(p)-
0000000000,000000000,:000000000.00
00000, jz=p>100000

[z =D f(@)] > (p=1)f(p) =0

000,z 00000 f(z) >0000. 000000 |zl =p>1000
|f(z)]>0000. 00 f(zy)=00000000 10000000000
gg.

00 ap>ar>a>-->a,>0000,|z|=p>1000

|(z = 1) f(x)| > (p—1)f(p) > 0.

00 |f(z)>0. 00 f(zr)=00000000 1000000.
000000000,000000000000

1°0g: 00, Toéhoku Math. J. 2, 1912. ag > a1 > az > --- > a, > 0000, |a O
ai/ag,az2/ai,...,an/an—1 00 00000000000000 1893 0 Enestrom 0000
00,0000000000. Téhoku Math. J. 17, 1920 000 Enestrom 00000,

100: Hurwitz 0000 Archiv d. Math. (3) 21, 1913, p. 253 0 Landau D000 00
0 0. Hurwitz, Téhoku Math. J. 4, 1914 0 O.




2. 0O0O0OOoo 13

00 3. f(z) =apa" +aa" '+ +a,=00000000000,00

U « 00000
@ @

s sy
ap ax Gp—q

gbooooboobo,booobooobooon.

goooooo,oog
o(x) = f(re) = apr™z™ 4+ arr™ 2" + cdots + an_1rxr +a, =0
gooooo
aor™ > ar" > > an_r >a, >0
O000000,00 r=max(a1/ag,az/al,...,ay/a,—1) 00000, ¢(x) =
000 g00000 |p|<1000.00 f(e)=000 a=rp00000

\a|§r:max(ﬂ,%,..., n
ap ai an—1

)

googo. oao

1

0<agr” <apr" " < <ap_1r < ap,

od
. (a1 QG2 A
r=min(—,—,...,
agp a1 ap—1

ooo |8 >1,00

|a|2¢:min(ﬂ,a—2,..., In ).
ap ax an—1

gobogooooog.

87 OODO0OULOODOOO!™

dooboooooooobooooooooo,ooboooooooo
obooooobooooooo.

00 4. f(z) =apz" +a2" ' +---4+a,=0000,a,0 1000,00
000000,000000000 1000000000,0000000
000 1000000.

120 0: Kronecker, Journ. f. Math. 53, 1857, Werke I, p. 103.
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000000000 ay,ae,...,0, 0000,000000 |og| <100
0.00

a; = _(a1+a2+"'+an)7 |a1‘ =n,
Ay = 1O+ -+ Qp_10n, |a2‘ < (2)7
ag = (—1)k(a1a2---04j+"')7 |ak7| S (Z)’
an = (*1)”0{10&2”'04", |a"‘ < 1

ooooooooooooooo,oo (),3%),..-,(),....(,,) 000
0 MOOOOO. 0000000, a,ag,...,a, 10000000, O
00000000 0,41,42,...,+M 0 2M+1000000. 00000
(a1,a9,...,a,) 000000 2M+1)"00000. 000 (of,af,...,ak)

oboboooog

fulz) = (@ - af)(z —af) - (z—ay) =0

0000,2z"0000 10000,00000000000000 a4, az,---,a,
00D0000000,00000000. 00 filz)=00 k=1,2,3,...
000,000000000000000000O00. 000000000
000000. 000 fa(z) = fole) 00000000, (ab,ak, ... al)
(af,ak,...,0f) DD0DO0DO0OD000O00OD0OO0ODDOOO0O0. OO0 o O

(ab.ob, ... 0f)0D0D000,000 o5 000000. 00000000
00,0000 oy 000000O. 00

h_ k _h_ k h _ k
Q] = Qp, Qg =Qz, ..., Oy, = Q)
gooo
h? kh k2 h3 k2h k3 hP kP
a] =@y =@z, 0 =Q3 =04, ..., Q] =0

gogb. 00 ;p 01 00000000DO0O0DO0O0O0O0. Dooboooboo
ugb1o0o0o0ooao.

0ad 5. f(x) =apr” +a12" '+ 4+a,=0000000,a 0 100
o,00000o0o0booobo,ocooooooboogn, 2< <2000
o; 000 2co89;, DOOOO. 00O 0;/s00000O00ODOOOO.

’

goooooon
w@ﬁ=aﬁf(x+i)
O0000,¢(x)=0000000000,000000000001000.
flz)=000 ay,a9,...,0a, 0 @(z)=000 p1,0s,...,5, 00000
1

ﬂkJF@:Olk
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0o00.0 Be=re 0000
. 1 . 1 1
ap =re'? + e 0 = <r+ > cosf +1 (r ) sin @
T T T

00000,00000000000 (-2,2)0000000 r=1000
00000.00000 r+t-2=(r-1)2/r>000000,r+1>2
00 r=100000r+1>20060=0000 aq=r+1>200
0,000000.00r=1,|8|=1,00004000,8,00010
O0000.00 Be=¢% 0000 6,0 +00000000.00

1 . .
ar =B+ — = e £ e = 2cos0),

Br
DDD,Hk/FDDDDDDD.



